
𝐭𝐚𝐧 𝐱 

sin 𝑥 + cos 𝑥 2 + sin 𝑥 − cos 𝑥 2 



2 

sec 𝑥 + csc 𝑥

1 + tan 𝑥
 



𝐜𝐬𝐜 𝐱 

cos 𝑥

1 + sin 𝑥
+

1 + sin 𝑥

cos 𝑥
 



𝟐𝐬𝐞𝐜 𝐱 

sin x cot x + cos x

2 cot 𝑥
 



𝐬𝐢𝐧 𝐱 

sec x  − csc x

sec x csc x
 



𝐬𝐢𝐧 𝐱 − 𝐜𝐨𝐬 𝐱 

sin x tan x + cot x  



𝐬𝐞𝐜 𝐱 

sec x  − cos x  − sin x tan x 



𝟎 

csc2x

cot x
 



𝐜𝐬𝐜 𝐱 𝐬𝐞𝐜 𝐱 

1

sin x
−

1

csc x
 



𝐜𝐨𝐭 𝐱 𝐜𝐨𝐬 𝐱 

1

tan x
+

1

cot x
 



tan 𝐱 + 𝐜𝐨𝐭 𝐱 

2 − sec2x 



𝟏 − 𝐭𝐚𝐧𝟐𝐱 

1 + sin x 1 − sin x  



𝐜𝐨𝐬𝟐𝐱 

csc x − cot x sec x + 1  


